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1.  Write notes on any three of the following:
(i) Money measurement concept
(ii) Convention of full disclosure
(iti) Limitations of financial accounting

(iv) Objects and limitations of Trial Balance
| (62x3=20)
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2. (i) What is Bank Reconciliation Statement ?
Explain the purpose of preparing it.

(ii) Distinguish between capital expenditure and

revenue expenditure.

(iii) Features and advantages of Single entry system.
: (63x3=20)
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3. You are required to prepare Trading A/C; P&L A/C
and a Balance Sheet from the following balances and

adjustments for the year ending 31st Dec., 2006

Particulars Dr. Cr.
Rs. Rs.

Purchas.es!Sales 1,30,295 1,80,500
Cash in hand 500 —
Cash at Bank 9500 —
Stock on 1.1.2006 40,000 —
Wages 22,525 —
Sales Returns 2400 —
Purchase Returns —_ 195
Repairs - 1675 —
Debtors/Creditors 30,000 30305
Bad Debts 2310 —
Loan — 20,000
Discounts 800 530
Capital — 37500
Interest on Loan 600 —
Salaries 8000 —
Insurance 2300 —
Charity 125 _
Rent 2000 —
Machinery 16000 —
Total 2,69,030 2,69,030

P.T.O.
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Adjustments :

(i) Wages include Rs. 2000 for erection of new
machinery installed on 1.1.2006.

(it} Provide depreciation on Machinery @ 5% p.a.
(1i)) Stock on 31.12.2006 is Rs. 40925

(iv) Salaries unpaid Rs. 800.

(v) Prepaid insurance Rs. 300.

(vi) Make a prov'ision of 5% on debtors for doubtful
debts. (20)
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oA IR 2310 —
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(i) 7T W 5% wREd @ | R T A
(iii) 31.12.2006 = ®iw 40925 & oy
(iv) 800 = "W Ja B4 |
(v) 300 % dew & 21
(vi) g Foi & fog il W 5% aen i |
4. The following is the Balance Sheet of A, B and C
who are equal partners,

P.T.O.
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Balance Sheet as on 31.3.2007

Liabilities Rs. Assets Rs.

Capital A/Cs Buildings 39000

A 33,600 Furniture 4800

B 25,200 Stock 22800

C 12000 Debtors 21600

Creditors 12000 Cash 1200
Bills Payable 6600

89400 89400

They agreed to take D into partnership on April I,
2007 and give him 1/4 share in future profits on the

following terms :—
(i) That D should bring Rs. 30,000 as capital.
(ii) That D should bring Rs. 18000 for goodwill.

(iif) That stock and furniture be depreciated by
10%.

(iv) That building be valued at Rs. 50,000,

Prepare Revaluation A/C; capital A/Cs of the
partners and Balance Sheet after the admission of
D. (20)
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5. Sonia purchased a machine from Manish Traders on
hire-purchase basis on 1.1.2003. The cash price of

P.T.O.
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the machiné was Rs. 74500. She paid Rs. 20,000
immediately as down payment and agreed to pay three
instalments of Rs. 20,000 each on 31st December
every year. The vendor charges interest at 5% p.a.
Sonia charges depreciation @ 10% p.a. on reducing
balance of machine. All the instalments were paid on

time.

Prepare Machine A/C and Manish Traders A/C in
the books of Sonia. Also prepare Sonia’s A/C in the -
books of Manish Traders. (20)

| X 1.1.2003 = WY 29 @ - w9 vefd @ amuR
W T WA |G | W AET A 74500 T o | @
F 20000 & T WA Ta A 3@ 20,000 T ] EF
aife free Wl ad 31 feweR =t 3 & == Ran ) fa@a
5% =€ X A = oat ® | A Wi W 10% affes
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W WA T W ORI
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6. Amit and Sumit doing business separately as building
contractors undertake jointly to construct a building
for a contract price of Rs. 1,00,000. A bank account
is opened in their joint names ~ Amit paying Rs. 25000
and Sumit Rs. 15000.
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They share profits and losses in the ratio of 2:1
respectively. Their transactions were as follows:

Wages paid Rs.30,000; Material purchased
Rs. 70,000.

Materials supplied by Amit Rs. 5000
Materials supplied by Sumit Rs. 4000

Architect’s fees Rs. 2000 was paid by Amit. The
contract was completed and price was received in

cash.

The joint-venture was closed. Amit took over the
unused material at an agreed value of Rs.20,000.
Show the Joint Venture A/C; Joint Bank A/C; Amit’s
A/C and Sumit’s A/C after final settlement. (20}

Ffha 3R g v Fein = w9 39K & W A F@ 7!
I 1,00,000 & ¥ UH ST N F S WA W A
for | IR W AW ¥ oF F e e @ R aia
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. Wl 30,000 T & W
70,000 & F vaT-arEl @@ w1 af| 5000 T F)
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P.T.O.
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7. Pooja Co. Ltd. issued 1,00,000 equity shares of Rs. 10

each at a premium of Rs.2 per share payable as
under :

On Application Rs. 2

On Allotment Rs. 5 (including Premium)
On First Call Rs. 3

On Final Call Rs. 2

All the shares were subscribed for by the public and
cash duly received.

Pass necessary journal entries to record the above
_issue of shares. (20)

T &o WA T 2 10/~ 3 T @ @ s 2 & G
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8. (a) Explain any two of the following ratios with

examples :
(i) Net profit ratio
(ii) Inventory Turnover Ratio
(iii) Current Ratio (6x2=12)

(b) Difference between Consignment and Joint
Venture. (3)

(@) Frr ¥ ¥ Rl @ oo ) JewT aRe e
(i) w& @™ I
(i) 3ot R A HFI
(iii) =g, T

(@) INvr @ WG -ITHA A FK

9. Write notes on any three of the following :
(i) Definition and advantages of Bill of Exchange

(if) Valuation of unsold stock in Consignment

Accounts
: P.T.O.
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(iii) Decision in Garner Vs. Murray Case

(iv) Meaning of amalgamation, absorption and
reconstruction . (6 %x3=20)

S A R i el o
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(iv) v, sFafdfera qun qeor =1 3nd
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